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@ 3x+5x ©@ 6x-2-3x+7
=8x =6x-32-2+7
=3x+5
@ 7x—2x-5) @ 7xx4
=7x-2x+5
=5x+5 =28z
® —48x+6 ® -54x-5)
=-8x =-20x+25

@ @C7x+18)+9

43x+1)-3@2x+3)

@ —6x+3x ©@ 9x+4-4x-5
=-3x =9x-4x+4-5
=b5x—-1
@ 2x—-(5x+4) @ —8xrx4
=2x—-5x—-4
=-3x-4 =-32x
® 42x+7 ® 6(5x+3)
=6x =30x+18

@ B30x—12)+(-6)

53x+2)+2(x—4)
=15x+10+2x-8

=4x+4-6x-9
=3r+2 =4x-6x+4-9
=2x-5
OSRENERT
© bx-12=2x 7x+5=5x+13
Sx—-2x=12 7x—-5x=13-5
3x=12 2x=8
x=4 x=4

< 5 B B>

=-5x+2 =15x+2x+10-8
=17x+2
L Jnl gy
© 7x=5x+10 5x—4=2x+8
7x—5x=10 Sx—-2x=8+4
2x=10 3x=12
x=5 x=4
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YFOR - R 4 |5

@D —4x-3x @ 3x-9+2x+5
=—7x =3x+2x-9+5
=5x—4
@ 6x—(4x-5) @ —5xrx(-9)
=6x—4x+5
=2x+5 =45x
® -56x+(-8) ® 73x-5)
=7x =21x-35

@ 4x—-12)+(—4)

7@x—1)—4(x+2)

=14x-7—-4x-8
=—6x+3 =14x—4x-7-8
=10x-15
OSRENERT
© 7x-20=3x 3x—6=5x+2
7x—3x=20 3x—-5x=2+6
4x=20 2x=8
x=5 x=—4

@D 5x-9x @ 8x—3—-4x-7
=—4x =8x—4x-3-7
=4x-10
@ b5x—(7—4x) @ —8xx(-8)
=5x—7+4x
=5x+4x-7 =64x
=9x-7
® —45x+9 ® —6(7x+2)
=-5x =—-42x—-12
@ (35x-15)+5 5Cx+1)+3(x—4)
=10x+5+3x—12
=7x-3 =10x+3x+5-12
=13x-7
L Jnl gy
© 6x=x-30 7x—5=4x-20
6x—x=-30 7x—4x=-20+5
5x=-30 3x=-15
x=-5 x=-5
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@ 7x+5x @ 7x—3-4x+9
=12z =7x—4x-3+9
=3x-6
@ 11x—(52-3) @ -7xx(-9)
=1lx-5x+3
=6x+3 =63x
® -36x+6 ® -39x-7)
= 61 =—27x+21

@D —bx+2x @ 8x+3-5x-7
=-3x =8x-5x+3-7
=3x—4
@ 3x—9x+1) @ —6xx8
=3x-9x-1
=—6x—1 =—48x
® 49x+7 ® 9(6x+2)
=7x =54x+18

@ (0x+24)+8

4@x+3)—-3(x+3)

@ @C7x-12)+(-3)

3(4dx+2)+2(3x—-4)

=8x+12-3x-9
=5x+3 =8x-3x+12-9
=5x+3
OSRENERT
© 6x-20=2x 9x+2 =6x+20
6x—2x=20 9x—6x=20-2
4x=20 3x=18
x=5 x=6

=12x+6+6x-8
=-9x+4 =12x+6x+6-8
=18x-2
L JnlEEanq:dp)
© 1lx=5x+30 7x—8=2x+17
11x—-5x=30 7x—2x=17+8
6x=30 S5x=25
x=5 x=5
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@ -b5x—6x @ 3x—7+5x+4
=-llx =3x+51—7+4
=8x—-3
@ 8x—(4x-3) @ —5xx(-7)
=8x—4x+3
=4x+3 =35x
® 24x+8 ® 48x-3)
=3x =32x—12

@ 35x-10)+(-5)

6@Cx—1)-5(x+2)

=12x-6-5x—-10
=-7x+2 =12x-5x-6-10
=7x-16
OSRENERT
© 8x-21=5x dx—7=7x+5
8x—5x=21 4dx—7x=5+7
3x=21 3x=12
x=7 x=—4

@D 5x-9x ©@ 8x—4-5x-6
=—4x =8x—5x—4-6
=3x-10
B 5x—(6+2%) @ 9xx7
=5x—-6-2x
=5x-2x-6 =63x
=3x-6
® -72x+(-8) © —6(8x+3)
=-9x =—48x-18
@ L2x-14)+7 205x-3)+32x—3)
=10x—6+6x-9
=6x-2 =10x+6x—6+9
=16x+3
L Inkanwey:cl)
© b5x=8x-15 9x—7=4x-22
S5x—8x=-15 9x—4x=-22+7
-3x=-15 S5x=-15
x=5 r=-3
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@ 6x+5x ©@ 9x—4-5x+7
=1lx =9x-5x—4+7
=4x+3
@ 5x—(7x-3) @ 6xx(-9)
=5x—-7x+3
=2x+3 =-54x
B 28x+(-7) ® —46x-3)
=4x =-24x+12

PO - iR 10 | B
@D -8x+2x ©@ 9x+2-4x-8
=—6x =9x—4x+2-8
=5x—6
@ 22— (7x+3) @ —6xx9
=2x-7x-3
=-5x-3 =-54x
® L2x+6 ©® 8(7x+4)
=7x =56x+32

@ (32x+16)+8

3@x+1)-2(x+3)

@ 30x-10)+(-5)

5B3x+2)+2(4x—3)
=15x+10+8x—-6

=6x+3-2x-6
=4x+2 =6x-2x+3-6
=4x-3
SRR ERT
© 7x-8=b5x 7x+3=3x+15
7x—5x=8 7x—4x=15-3
2x=8 3x=12
x=4 x=4

=—6x+2 =15x+8x+10-6
=23x+4
SRR AT
© 9x=7x+18 8x—7=3x+13
9x—7x=18 8x—3x=13+7
2x=18 5x=20
x=9 x=4
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